Cor\-t\ Amae. TAGNG\S
S-\‘omAOvrA 'DQ\I\Q-\-\ on o“' Sam?\\nj —D\S-x'\r\\p\s)!ﬂons

Samngie WRAYS

Y A F[m‘j 4
[é“%\j [ ;o) L2 ],\

dnes o
5_\.&“&(3 Bront. [_\.s\u(\} «\:’D;N:iég‘:o me*“S\

@E“: 3 [SE;; : jgﬁ(\j}jj

g !







When LR Create on wrervel  wR o

Sab\\r\s'.
"o o % conhident Hnat Yhe

(Uﬂw ?G:MA&\ (me.an up -Hm ?o?o\o-\'ton o<
rogorfiee of v ppolatian) 15 sowedece

\hween — % .
N 7

(',or\'c\&x\ ce
v




“To lecowe onore confident Yoov werval
Yoo e

q USe o e (\Q@:) ereeua|




wka_\— we  Medn b‘-’ ___:ﬁ_:.:-o}o Oor\-(:\c‘e.n-k'

TE we wexe Yo (Credde  enoay
é\QGere,n-‘( \nls-e_wa\s US\(\S A\-@ereﬁl‘—

SamQ\QS \ Yren I/ o-g: rresvals
—
uoou\é OW\J( o A\'A -—\-\m_, on\eno LN Yo.ramz-\e" .




Cren*ﬂ, o 99) conhdence wvewal
e . GPA o CCBC

« Rongoen Sovnple s+ V00 g’cuaﬁn'\s
ond L op\colade Praw mMmean o
e 3.02 . T s ¥nown onek e

5}6(\(&0«6 Aewanon e o:\/\ 5—\-\:&,‘-&

s CEDC. 18 o g 6____@_:_;53::,0‘:\}
5T =

+ Rondom Sample 4
e |IOn < ?OP Size v
> %0 v







2.94%% , 3 |02
¥ In-\ev?re‘\" o oondence.  wemal ¥
we are Q197 conndeat Moy e

k’ Ones 0‘8« GP.A o:'\' ccBC s Sovee\ N\ (L
\pe uken 72 A%% ond 3.\OL.




Cm-g&mce j«r"emo\s Vit (\?m?“*\ms

Oy §2 7 ([HD) @

®?mYuf’$‘lor\s o SEf
ALdYS v £

¢=======







The countries of Europe report that 46% of the labor force is female. The United Nations
wonders if the percentage of females in the labor force is the same in the United States.
Representatives from the United States Department of Labor plan to check a random
sample of over 10,000 employment records on file to estimate a pcucnlavm of femalgs in
the United States labor force. U_,\S

I. The representatives from the Department of Labor want to csuqlm a ‘ml
females in the United States labor force to within £5%. with 90% confidence. How

many employment records should they samplu.’
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The countries of Europe report that 46% of the labor force is female. The United Nations
wonders if the percentage of females in the labor force is the same in the United States.
Representatives from the United States Department of Labor plan to check a random
sample of over 10,000 employment records on file to estimate a percentage of females in
the United States labor force.
3. Interpret the confidence interval in this context.

I. The representatives from the Department of Labor want to estimate a percentage of

females in the United States labor force to within £5%, with 90% confidence. How
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many employment records should they sample? -
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1) A company that produces batteries is concerned about the distribution of the life expectancy of their
batteries. The company takes a simple random sample .@ batteries and computes the sample mean to be
600 hours per battery and Mstandard deviation of 25 hours. Construct and intéfpret a 90% &onfidence interval

for the unknown mean Tife expectamcy. DY Q" - 0 i N =90
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1) In asimple random sample of 200 students taken at a very large university, 64 stated that
they enjoy strawberry ice cream. Construct and interpret a’99% confidence interval for the
percent of students at the university who enjoy strawberry ice cream.
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